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S EX A R A] A (KLIS) &9 35,317 16,621 18,696

101 21714 12,298 8,123 4,175

10 NATZAS B 12,298 8,123 4,175
OTTEAZRA|~R Y BEJAFY 32,6509 * 191 * 280Y 9,142
OFFEAGHA 2R LY BEAF FH5T 32,6509 * 131 = 44 * 12¢¥ 1,568
OFFEABEA =Y BA5 dx+d 32,6509 * 191 = 159 490
OFHEAGRA| 2R BEAF AFERIEE 10,248,000¢ = 131 * 22/1,000 226
OTTEAGRA ALY BREAY LEHIEE 10,248,000¢ = 11 * 20/1,000 205
OTFEAZRALH Y BXAF AANELEE 10,248,000 * 191 * 20/1,000 205
OFFEAGEA2H LY BT I0des 10,248,000%) * 121 * 45/1,000 462
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300,000¢) * 15% 4,500
OFTEAGHAI =T G4 - A7 &l ¥ Ad Z2H JIATY

200,0009) * 127} 2,400

02 TT9FH 4,119 2,088 2,031
O n]FAH] ] 4,119
OFNFEANZRHA2EEA AB - ujE¢o] &2 K 343,200 = 12¢ 4,119
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OolFzaw % AAI 360
Oxdsta = 30,0009 * 129 = 360

202 ofH] 7,200 8,550 A1,350

01 ol 7,200 8,550 A1,350
OFALd F A 20,0009 * 591 * 72¢ = 7,200

EENIAETG 7|24 25,680 14,092 11,588
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OFA D F A 5,000 * 591 * 160 4,000
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202 o4 10,800 10,450 350

01 o] 10,800 10,450 350
OFAd FAA 20,0009 * 591 = 108¥ = 10,800

AG ARG 72 15,000 3,205 11,795

201 LuF-dH] 9,000 0 9,000

01 AHF-¥2]H| 9,000 0 9,000
Oldrr+81]] 5,000
OFAED FTAAY 5,000,000¢) * 12 5,000
OlF2H]] 4,000
OF-AEF T A 5,000 * 481 * 2009 4,000

202 o]H] 6,000 3,205 2,795

01 =ujodn] 6,000 3,205 2,795
OFA+Qd TAA% 20,0009 * 491 = 75 6,000

Az 7] R A 17,155 20,737 A3,582

201 WG] 8,755 10,737 1,982

01 ARF3EH] 8,755 10,737 1,982
Olg¥r8H]] 5,880
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OF-A &3 T A 5,0009 = 58l = 116 = 2,875
8,400 10,000 A1,600
01 =ujofn] 8,400 10,000 A1,600
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| 37,560 34,250 3,310
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5 2 9uFH U dold 2y EY % =7 74
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